Homework 16 Solutions
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The output is
z = xX"A + AB

To obtain the D and J K inputs, we map A* and B* (using the quick method for
the JK flip flops).
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A* B*
Dy = A'B' +xB' Dg = xA' + AB'
Ja=B Kp=x" +B Jg=x+A Kg = x' + A

The SR and T inputs can be obtained from maps of the truth table above.

Sa=A"B" Ry=x"A+B Sg=xA"+AB' Rg=AB + {x'B or x"A'}
To=A'"B'"+AB + {Xx"A or x'B'} Tg=A+x'B+xB'

The circuit for the JK design is

X“’_{>°‘ ]

CLOCK



Homework 16 Solutions

2. a)
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Without drawing the maps, we can see that
;i = x" + ' + g;' Ja 1 Jr = Ky = x
Thus, we show maps only for D, (g,*), z, and K;.
X X x
q,9d, o 1 d,9, o 1 c, q, 0 1
00| x | x 00| x | X 00| x | x
01 L 01 1 01| X | X
11 1 11 1 11 1
10| 1 10 10
g * K4
D, = x'qz2' + xq» Ki = xqp




